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Inventory Valuation

> Basis of Inventory Valuation

As perPropsca > Valued atLOW,RVconcept -Net Realisable value
-Eg .

200

packetsofchi Anatis
CLOSING Stock . #4000

Eg
-

200

packetsofChip Anticipateaent
CLOSING STOCK - -5400



< Meaning of Cost

> Agents
>

Palak-Buyingwing

Factory -

unloadingo 1kg cotton . E20

1000 kg cotton - 20.000

- Trade disc - (2000)
Purch

. Al2 18000
,Refundable· Not a cost

,

< + GST&121 · 2160 Tax

its an Asset 20160

Toll Tax Non-Refundable Transport Agency
5500 T

&2000inward



↓ Cost of Purchase : 1000
t 18000
& 1000
+ 500
+ 500

Cost Of 100Rgs 21000

2. Cost of Conversion - Manufac cost

Factory related cost
- Labour cost :

Wages
- Mach : Dep
- Rent

, power ,

3. Other cost

Designing cost

> Net Realisable value

1. Finished Goods

NRV : EstimatedSelling Price XXX

1) selling expNRY (x



-

2. Work-in-progress (WIP)

Wip. Cost incurred till now -1000 - Cost F1000
-

Estimated cost of completion - 2800

NRV : (800) · estimated cost of comp.

+ 3000 - Estimated Selling price
(100) - estimated selling exp.
2100 - NRY

Inventory valuation - :1000

3. Raw Material
Cost - E500

NRY - Replacement cost
Y E400

Raw MaterialWill be valued at E400 .

Imp points:

1
. Inventory valuation to be done at each Balance Sheet

date
.

2. Example :

Product Cost NRY

* 2000 1800 Y 1800

B 3000 4108 Y 3000

50005900 4800

~ Inventory to be written down to NRY on item by item basis .



Methods to Determine
Cost of Inventory

Historical cost Non.Historical
Method CostMethod

L

L V AdjustedSIM FIFO Simple Average Selling Price
First in First out

V Method

Specific Solentification
. Weighted

Last in first out Average Method.

1

. Specific Identification Method
Machine #1 Machine #2 Machine #3

2 crore 5crore lOcrore

HM Limited 2 pty 3pty Apty
C. Stock - 4 crores

15 CP.

10 CP

29 croses

> This methodisgenerallyusedheries
ao is



- -

An Stems Historical cost /EinLakhs) NRV/ELRhs) CL.Stock
[ELaRhs]

P 38 42 38

29 29 29P 17 14 14

Sl

~ CI. Stock is valued at lower of cost & NRV ,
whichever is Lower

Inventory to be written down to NRY on item by item basis .

2. FIFO -First in First out

E# Date Cy p 10
, 0002/1/24 -

10/1/24 50 120 6000

15/1/24 10 2200

Sold 130 units on 1811124

Closing Stock - 40 units - 1811124

20 x 120 20 x110

E4600



*

-

Use

-

~

Date Receipts Issued CI.Stock
Unite Rate Ant

1
.

1
.2022 Bal

.

XXX XXX

1, 1, 2022100 30 3000 3000

15 . 1.2022 58

1.2
.
2022 200 8000 -50 30 150-50 30 1500

2000 150406000

240]



3. LIFO-Last-in-first-out
~ As per this method , good which are purchased most recently

are sold/issued first & therefore , closing stock consist of goods
which were purchased earlie .

~ Accounting Standards does not permit the usage of
LIFO Method .

Illustration- 3

-

M

-
-

-

~

-
- E



Valuation of Inventory

Units Rate E Units Rate E Units Rate E

Deck 900 50 45000 900 50 45000

Dec5 500 50 25000 400 50 20
,
000

Dello 400 55 22000 400 50 20
.

000

400 55 22000

Decl 3005516500 400 50 20
,
000

40055 · 22000

Date

I
Receipts

I
Issued

I
Cl . Stock

300 55 16500

Decla 20060 12000 - 400 50 20
,
000

- 400 55 22000
- 300 55 16500IIIIII200 60 12000

Dec20 200 60 12000

300 55 16500

100 55 5500 400 50 20
, 000

30055 16500

Dec28 800 47 37600 400 50 20
,
000

300 55 16500

800 47 37600

Des29 50047 23500 400 50 20
.
000

300 55 16500

30047 14100

-> value of Cl . Inventory of 1000 units is 250600



4. Simple Average Method
Ex- 1/12/23 100 units &25 I15/12/23 500 units 2 30

26/12/3 200 units &20

600 units Sold

~ Average price - (25 +30 +201 :
E25

Closing stock - 200 units @D25
- 25000



1600 units were issued during the month of Dec .

Average price - (50 + 55 +55
+ 60 +47)

= 53. 4

value of closing In · of 1000 uniti = 1000 853 . 4
= 553400



5. Weighted Average Price Method
Units

Ex-1klan 100 X E20

lol 200 x30
700

58 units sold

ClosingStock - 200 units DEZ0 - E4000

~ The problem with Simple Average Price Method is that
it does not consider quantities purchased .

* Weighted Average Rice Method

Units Price E Total cost

100 20 2000
200 30 6000

400 10 4000

700 12000

Weighted Any price - 1000217 . 1

C. Stock- 200 units @E17 . 14

= E3428

-> Weighted Any price - Total cost of goods available for sale
Total no of units



Ill.5

-
- ~

-



Date Receipts Issued Cl . Stock

Units Rate E Units Rate E Units Rate E

Bech 900 50 45000 900 50 45000

Dec5 500 50 25000 400 50 20
,
000

Deck 40055 22000 800 52 .5 42000

Decl 300 55 16500 1100 53 .1858500III
-

Il
&

Decla 200 60 12000 1300 54 .2370500

Dec29

1
.

ooolasies
1000 20.30 so

Dec20 60054. 23 3253870054 .2337962

Des 80047 37600 150050.3775562

value of1000units = E50377



~ Adjusted Selling Price Method
y RetailInventory Method

Example: Op Stock - -100
,
000 -

Purchases - (300.000 -

Direct exp - 250
, 000 -

Cost of good available , 450.000

for Sele

Sales - (400
,
000 - Selling

Closing StooD - E200
,
000 - Sale price
jost ?

SP = CP + Profit
~ ~

EP-Profit=
Cost

50
.

00lock
L selling value



1. Total cost of good - (450
,
000

Total selling price - :600
,
000

of goods
Profit - 5150

,000

- 150
,
000 ↓ 100GrossNot 600

, 000

= 25%

Cost = Sp-Profit

Closing stock = C .
Stock - Profit

Ccost] [SPJ
= 200.000 -

25x 200.
00

=150
, 000

~ This method is appropriate where there die lege no

of items & It is impractical to use any
Historical cost method.

Step : 1 Calculate Cost of Goods available for Sale
- op stock
- Purchases
- Direct exp.



Step 2 : CalculateTotal sale value of good available
Sales during the year

↓ closing stock (selling price)

Step3: Calculate Gross Margin (%) on sales

Total sale value /Step 2]
7 Total cost of goods (Step 1)

Gross Margin XXX

Gross Margin (oo) =
Gross Margin x 100

On Sales Total Sale value (Step2)

Step 4: Closing Stock (cost]

Closing Stock (Selling prices
() Gross Margin
(C .Stock (Sell. Price)x Gross Margin %)



-

- 250,000 -

N

Selling price of goodavailable250

cost of goods available for sale - (E200
,000)

Gross Margin 50.000

Gross Margin (%) = 50
,
000 X100

250
.
000

= 20%

Cost of C . Inventory = 50
.
000 - (28x50

.000]
= [40.000



1575500

169634/ ↳ 1528235

- - 11%

-
Assumption

:

NonRefundable
7

-

- -
-
Direct

-

5

1. Selling price of good available for sale
· Sales during year - 2245

,
500

Sales price of closing Sn-235,000 24
,
80

,
500

2. Cost of Good available for Sale
Goods Received from Supplies - 1575500

= Trade discount /31) (47265)
1528235

Add : GST @ly 168106

1696341

Acid : Packaging & transp 87500 (1783841)

Gross Margin 696659
Gross Margino 696659x100

2480500

= 28. 09 %

Closing stock at cost = 235, 000 - 2009/ 235008989



CL . Stock = Cost of goods an for Sale
- cost of Goods sold

-

1000 -

Soles-Sold/
- profit coys 300 Cl stock -
coys Took

32500 - 142500 50
,000

# M (17500)

Abnormal no- 32500
->rot

go

2. s Sales-1245000
Normal Abnormal1200.000 45000

( (240.000) [12500S

960
.000coys Toys

32,500



Inf

-

1
-
Cost of Goods

available for Sale

[
X-

X~

X-

~ - GP = COGS-
~opstock -

-

--

- -

-

-

↓. Cost of Goodsavailable forsple 10
,
55

,
000

(WNI]
- Cost of Goods Sold (WN2] PP2500

Closing Stock as on 31/3/2022 62500

#NI Cost of good available for Sale :

OpeningGiventory - 140
- 762500

Man . Exp - 150
,000

1055000

#N2 Cost of Good Sold :

Sales - 1245000
Less: Gross Profit-

NormalSales - 1200
,
000 x201. : 240,000

Abnormal sales - 45000- 32500 : T0(252300) 992500



INVENTORY⑳TAKING
- Physical counting

of stock.

A

Before the end of After the end of
Accounting year #counting year

25th March- E100,000 - Physical count 5th April - El, 20
,000

Purchases - E30
,
000 - Invoice

.

Purchases - (E25000
(26+Mar - 31s+Mai] Clot Apr-5thApr

-
Invoice

.

Sales - 50
,
000 Sales - 40

, 000

GP (10,000) 40,000 - COGS -GP(10
, 000 +30, 000

-

Stock ason :90 ,
000 Stock as on 125, 000

31st Mar 31st Mar

Stock Taking - XXX Stock Taking XXX

+ Puick ases XXX Less : Purchases (XXX)

COGS ( XXX) Add : COGS XXX

stock as on 3113 XXX Stock as OD31 XXX



[

25/3 3113 5/4B
,

A

+ Purchases ->Purchases
COGS + COGS

Stock as on A-XXX
+ Purchases *XX

-> COGS (VXX)

Stock as on B XXX

Example : Physical stock as on 10th Apr.

2023. El. 40, 000

Foll
. info. isavailable which relates to Jeriod blu Ist Apr&

10th Apr .

2023:

a) Purchases - 550
, 000 (incl . Cash purch. (15000]

bJ Sales - 280.000770.
000 - 14000 =5600

Sales Bet -10.000
-

Goods are sold at a profit Margin of 20%.

-> Calculate value of stock as on 31st Mar 2013 .

31/3 Sales Net Sales - 70.000

S
80,000

3

S
COGS

Return - 10, 000-Sgige qu
I 7



A
=

Physical stock as on 10th Apr .
23 140

,
000

Less: Purchases from 1st Apr-10th Apr I
150

,
000

Add: Cost of Good Sold 56000
Not Sales /80

, 000 - 10, 000)- 70
,
000

=> Gross Profit (14000S

Value of stock as on 31st Mar .
23 146000

Trading As BY



Diff bli value ofStock & 'value of physical stock !

StOR25 March. E250

↓ Purchases - 100,
000 : (out of total

CSAVOIce] purchase,10, 000

31st Mar not yet received)

31st March-value of Stock

Stock
350

.
000 - Trading As

Ownership
value of physical stock - 340

,000

Excost =x sales



PC-1 -Purch + COGS
-

-

Purch
. T ~

-

must
↳113cost

-
700
-
-Physical stock. all 250 ,

000
- 1000-
-
-

+ COGS 12900

[ Soles-1720-(-GP

= Purl (700)
(1/4-9th) 21000S

o



Inventory taking for the year ended 31st March, 2023 was taken on 25th March, 
2023, the valuation  of which showed an inventory figure of Rs. 9,50,000. The 
following facts were established between 25th March to 31st March, 2023. 
a. Sales were Rs. 8,00,000 which includes goods worth Rs. 2,40,000 sent on 
approval. 
b. Goods are sold at a margin of 25%. 
c. Purchases were Rs. 3,00,000.
Determine the value Of stock on 31st March, 2023.

> Goods Sent on Approval

-

800
.
000

↑

- 240,000
- 560 .000

25th March 31st March
I

2950
, 008

Sales - 800,000

1

5560
.
000 2240.0001 NotSale

~ Ownership is with

Igno business.

value of physical stock as on 25th March 950,000

Less: Cost of Goods Sold
Total sales - 800,000

7 Goods sent on approval - (240
,000) 560.000

7 Gross profit (140,000] (420, 000 (

Add : Purchases 300,000

alue of stock as on 31st Mar, 23 80. 000



Goods Sent Received on Consignment
COMMISSION

-on Sales
Goods. :100, 000 7

Sent on consignment
Shop

Delhi Ple

Consignor cosignee
3,Y3124
Stock - 2000

J Ownership with

Tina

Eg-

1InventingtakingasOnthNachau Foo
goods costing [20

, 000 are with consignee .

Stock as on 31st March. 24 - :100 ,000

+ 20 . 000 5120
,000

Eg. Inventory taking as on 10th Apr .
2n - -120, 000

Goods received on consignment during Mar24 - E25000
40% of the goods gold till 31st Mar

-
another 20 % sold

by 10th Apr & remaining are unsold
.

, 40% goodsareit



> value of physical stock as on 10th Apr . 5120
, 000

Less: unsold goods ,
received on consignment (10

,
000)

125000 X40-1.)

Value of stock as on 31st March. 24 1 , 10, 000

-- - Purch + CoyS

N8 = 40
,
000

(-yP
-

X

Ignore
- -

v
-ot .=000-

-

S X20typ 50,
000 - 151479366

-(40,
000 - 8000) + coys 32000
- w

Add: cost of goods Sent on approval (60%) - 4800 ·

( Sale value- 6000 I
-503yd)

CGP (2003

-



-u +Purch-coys

~

-

-
- X

+400, 000
#000

-
1360

, 000 -320,000

-
- t sale

2316 306
J

1 included goods Worth320
, 000

Goods North320,000 V Should be included

1360,000

Sake - 1040
.

800- E320.000

Ignore
L -

NormalSale Abnormal
Sales
-

920
.
000 120

,000
-

Coys
c

yp1840000 240
,000 976000

-



Amount (E]
Value of physical stock as on 23rd June. 22 4800, 000

Add : Goods sent on Consignment , unsold 240.000

Add: Purchases from 23rd June to 30th June 400
, 000

Less :
Cost of Goods Sold

I
TotalSales - 1360,

000

I
= Goods Sent on App. 132000

Less: Gross Profit

I
Normal Sales-920

,
000t = 184,000

Abnormal Sales - (120
,
000) 64000 (976000)

Value of stock as on 30th June
,
22 44, 64 , 000

11250
-60%1950) Go e 5300d> 6000

-



68750

Excost =ExSales 300
af -

-Purch + coys

-S1000
&B

- NRU

-

E
value of stock as on 10th Apr . 22 1675000

Add : Cost of Goods gold
[ Netsales (68750-3000) - 65758 IGross profit (in on sales] (16438) 49312

Less : Purchases from 1st Apr to 10th Apr (81000)
(90 ,000 - 10%)

Less: Decrease in the value of old slow moving item (6000)
[11250 -5250)

Less: Decrease In the value of stock (15500 - 12500) (3000)
=>

value of stock as on 31st Mar 1634312



~Dr.Nice
-

Pd
- PP-

PE Advotin No effect

-
-
Dr

-

-

- --

-

-

-

-
->

SalesX- 113 cost
-

1
-

Dr Profit & Loss Adj Als Cr.

by bal bld 600
, 000

-

To Sales (Sales Reversal 100,000 by electricitings 15000
- -

To Ady.Notit
1040

.
000 by stock (not included 250

,000

in the closing st.)
by Sales (not included 200, 000

in March)

by stock (goods sent 750000
on App. basis)

-= -



E

7 ClosingStock (given 375000

Add: Goods purchased but not included 250,000

in the stock-

Add : Goods Sent on Approval Basis 75000
100. 000
-

1. Electric fitingsD15000000 a Puta
To p&LAlc

Nominal

Profit to Dr. Cr
. Profit ↑

2.

AdvExpOrtNominapot on Pot

3. Closing stockDing Afc epaAdy Al
4 Debtor Dr

To Sales
7
Sales Pr~
To plAdj-

↳
p&L Adj

5. a) Sales Or 14

To Debtor Als IL
b) CStONIFR
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